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YEEIT B
No.17-2 1.800%1.800%0.950—(((0.820+1.050)/2)"2%3.14/4%0.810) B
—(1.300"2%3.14/4%0.140)=2.34 m 11
B
No.17-3 1.800%1.800%0.950—(((0.820+1.050)/2)"2%3.14/4%0.880) w’E
-(1.30072%3.14/4%0.070)=2.38 m 6
B
No.18-1 1.800%1.800%0.950—(((0.820+1.050)/2)"2%3.14/4%0.840)
—(1.300"2%3.14/4%0.110)=2.36
35|
No.19-1 1.800%1.800%0.950-(((0.820+1.390),/2)"2%3.14/4%0.790)
—(1.390"2%3.14/4%0.160)=2.08
wR
No.19-2 1.800%1.800%0.950-(((0.820+1.390),/2)"2%3.14/4%0.780)
—(1.390"2%3.14/4%0.170)=2.07
wR
No.37-1 2.000%2.000+0.950—(1.020"2%3.14,/4%0.580)
—(1.920"2%3.14/4%0.370)=2.26
BRE
No.37-2 1.800%1.800+%0.950—(0.820"2%3.14,/4+%0.580)
—(1.420"2%3.14/4%0.370)=2.19
BRE
No.37-3 1.800%1.800+%0.950—-(0.820"2%3.14,/4+%0.580)
—(1.420"2%3.14/4%0.370)=2.19
SAF—TL—k | £#EHL
¢ 1800mm ¢ 1800 m 1.0
2181k
¢ 2000mm ¢ 2000 m 1.0
SAF+—TL—k | REFRHEM)
TBT| ¢1800mm A=2543m H=1.0%5 m 5.0
R EFRIERMED
¢ 1800mm A=2.543m H=1.0%2 m 2.0
R EFRIERMED
¢ 2000mm A=3.140m H=1.0%1 m 1.0
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B
HBRT TRRERF
RC40-0 /&S| (1.800%1.800%1.000~(1.800"2+3.14/4%1.000)) ¥5=3.48 m 3
RRA| (1.800%1.800%1.000-(1.800"2%3.14/4%1.000)) *2=1.39 badis|
K| (2.000%2.000%1.000-(2.000"2%3.14,/4%1.000)) *1=0.86 m 2
SA4F+—TL—Fk
WET| BRE B[ A=2543m H=1.0%4 m 4.0
BRFA ®ME| A=2543m H=1.0%2 m 20
BEE R | A=2543m H=1.0%1 £=0.2067%1.0m=0.21t m 1.0
BE KM | A=3.140m H=1.0%1 £=0.2233%1.0m=0.22t m 1.0
HRT T BHEERE
RC40-0
No.17-2 B&RR | FABYLSER: (0.82072 x 3.14/4) X (0.370-0.15)=0.12
HR{RER:  (0.850°2 % 3.14/4) x 0.490=0.28
No.17-3 B | YL ER: (082072 x 3.14/4) % (0.317-0.15)=0.09
HR{RER:  (0.85072 % 3.14/4) % 0.613=0.35
No.18-1 B&RR | FAEYULSER: (0.820"2 % 3.14/4) X (0.356-0.15)=0.11
HRIAER:  (0.85072 X 3.14/4) X 0.534=0.30
No.19-1 &R | FAEYL4SE: (0.82072 x 3.14/4) X (0.255-0.15)=0.06
HR{RER:  (1.15072 % 3.14/4) x 0.585=0.61
No.19-2 &R | SAEYL4SE: (0.82072 % 3.14/4) X (0.350-0.15)=0.11
HR{RER:  (1.150°2 % 3.14/4) X 0.480=0.50
No.37-1 &R | FABYLSE: (0.82072 % 3.14/4) X (0.467-0.15)=0.17
HR{RER:  (1.450°2 % 3.14/4) % 0.313=0.52
No.37-2 BRM | YT E: (082072 x 3.14/4) % (0.180-0.15)=0.02
HR4RER:  (1.15072 % 3.14/4) x 0.600=0.62
No.37-3 B[ | FATYLSE: (0.82072 x 3.14/4) X (0.272-0.15)=0.06
HR4RER:  (1.15072 % 3.14/4) x 0.508=0.53
B
2.543%(1.000-0.150)%5-0.12-0.28-0.09
BRR| -0.35-0.11-0.30-0.02-0.62-0.06-0.53=8.328 m 8
®whE
2.543%(1.000-0.150)%2+3.140%(1.000-0.150)*1
®E| -0.06-0.61-0.11-0.50-0.17-0.52=5.022 m 5
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FHE T E K HET
L=6.9km AKOEEM =17 m 17
nonE
FEKOBRB =17 m 17
SHEERR U BR B
t=5cm 1.800%4%5=36.0 m 36
Eein|
t=5cm 1.800%4%2+2.000%4%1=22.4 m 22
S AR R B
t=5cm 1.800%1.800%5=16.2 m 16
Eein|
t=5cm 1.800%1.800+2+2.000%2.000%1=10.48 m 10
FOEM AsHEHI 4
L=6.9km EKOEESRM 27.0%40.05=1.35 m 1
non& AsHEHI 4
SEKOEREM  27.0%0.05%2.30=3.11t t 3
BIWR RE-HE
100m LA T BRI 2.543m+*5E=12.715 m 12.7
M| 2.543m*2[E]+3.140mi*1[E]=8.226 m 8.2
BEIWRBRAT =]
2.543m*3[E]*¥5=38.145 m 38.1
Eeib|
2.543m*3[E]*2+3.140m *3[E]*1=24.678 m 247
BEIREH AR
@ 1800 BIiR ® 1
[ FiZ
¢ 2000 BIiR ® 1
BEIRERE AR
¢ 1800 1
[ FiZ
¢ 2000 [ 1
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45mmET " [ 19-1,19-2 #8 2
50mmET BRRE| 18-1 #H 1
7ommET BRRE| 17-2,17-3,37-2,37-3 #A 4
70mmET KM 37-1 # 1
LY
600-100 =R | 17-2(2),18-1(2),37-3 & 5
LY
600-100 7&fE | 19-1,19-2(2) 1& 3
)Y
600-150 2R | 17-3 1& 1
)Y
600-150 7&fE | 37-1(2) 4E] 2
B (18)
760-120 &A§ | 17-2,17-3,18-1 & 3
TBhR (28)
1060-130 2§ 37-2,37-3 1& 2
BR(2E) |
1060-130 7Zf 19-1,19-2 £ 2
BRGE) |
1350-160 7&fE 37-1 £ 1
EE(5)
760-900 =ff | 17-2 1& 1
EE(5)
760-1200 ER 17-3,18-1 1& 2
EE(28) |
1060-1200 7R  19-2 1& 1
EE(28) |
1060-1500 &R 19-1 1& 1
EE(28) |
1060-1800 R 37-2,37-3 1& 2
EE(38) |
1350-1200 7R 37-1 1& 1
HIFLI ®410
154%55% B | 17-2,17-3,18-1 B 3
HIFLI 464
2S5 WA | 19-1 SRR 1
HIFLIR 644
2SIk M| 19-1,19-2 AR 2
HIFL1 ¢ 760
2S5 B | 37-237-3 AR 2
HIFLIE ¢ 530
35k WM | 371 SRR 1
HIFLIR 644
35k WM | 371 SRR 1
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LARJLERET LAJLERES | (un—F25ke/ &
R 4+4+4+6+6 &% 24
LARJVEREHR | 4y - 25ke/ S
Al 6+6+9 £ 21
INFVFEEER| #iE/ T
5kg/tyb B | 1+1+2+2+2 tyb 8
Bg/ T
5kg/tyh TRME | 2+2+3 tyh 7
< ik—IL L UMH 2mBET
BT ¢760 RRS 17-2,17-3,18-1 05 3
L UMH 2mLT
¢ 1060 7RIS 19-1,19-2 [Elzis 2
L UMH 3mUT
¢ 1060 /R 37-2,37-3 [Elzis 2
L UMH 2mLT
¢ 1350 7R[H 37-1 [Elzis 1
EOMET NYOT7YTH
30mm«2m/ 7 (B 2+2+2+3+3 ZN 12
(TR fE) 3+2+3 PN 38
@ 400LLTF
BRI 17-2(2),17-3(2),18-1(2) [Elzis 6
@ 400LLTF
"R 19-1 &r 1
@ 450~600
TR 19-1(2),19-2(2),37-1(2) [Elzi 6
¢ 700LL L
B 37-22),37-3(2) [Elzi 4
¢ 700LL L
&=ME| 37-1 & 1
TS OMRET EUNHE
EILFIL BRE| 2+2+2+4+4=14%% 1448x20kg=280kg kg 280
EUNHE
EJLFIL KE| 3+3+4=14%% 10%8%20kg=200kg kg 200
18,28 B 17-2,17-3,18-1,37-2,37-3
H=0.53+0.71+0.79+1.33+1.42=4.78 m 48
15.258 ®ME| 19-1,19-2
H=1.04+0.85=1.89 m 1.9
3%  ®ME| 371,
H=1.05 m 1.1
FIERET B
1+1+1+1+1 [a] 5
"M
1+1+1 [a] 3
XA REK =
L=3.2km mESbt 32—  8#H%95kg=760 [l 1
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B

felo

B
EET

LEYEILAIL (BRE) :=(0.42+0.42+0.48+1.17+1.17)/5=0.73

B

a>%1)—kT (&) :=(0.06+0.06+0.06+0.17+0.16)/5=0.10

R

B T(HR2)(RRE):=(0.42+0.42+0.48+1.17+1.17)/5=0.73

&

LZEYEILEZIL (FRAS) :=(1.00+1.00+1.49)/3=1.16

R

a9 —kI (RRA) :=(0.19+0.17+0.24)/3=0.20

BT (M) (RRE) :=(1.00+1.00+1.49)/3=1.16

BEmEYThL

#EF7Co
AAET

No.17-2 RfH

(0.820"2%3.14/4-0.600"2*3.14/4)%0.150=0.037

(((0.820+1.050)/2)"2%3.14/4

-((0.600+0.900)/2)"2%3.14/4)%0.600=0.147

No.17-3 B[E

(0.820"2*3.14/4-0.600"2*3.14/4)%0.220=0.054

(((0.820+1.050)/2)"2%3.14/4

-((0.600+0.900)/2)"2%3.14/4)%0.600=0.147

No.18-1 &R[E

(0.82072*3.14/4-0.600"2*3.14/4)%0.180=0.044

(((0.820+1.050)/2)"2%3.14/4

—((0.600+0.900)/2)"2%3.14/4)%0.600=0.147

No.19-1 &[H

(0.820"2*3.14/4-0.600"2*3.14/4)%0.130=0.032

(((0.820+1.390)/2)"2%3.14/4

-((0.600+1.200)/2)"2+%3.14/4)%0.600=0.194

No.19-2 7&[H

(0.820"2*3.14/4-0.600"2*3.14/4)%0.120=0.029

(((0.820+1.390)/2)"2%3.14/4

-((0.600+1.200)/2)"2+%3.14/4)%0.600=0.194

No.37-1 &[H

(1.020°2%3.14/4-0.600"2%3.14/4)%0.52=0.278

(1.92072%3.14/4-0.600"2%3.14/4)%0.150=0.392

No.37-2 B[E

(0.82072%3.14/4-0.600"2%3.14/4)%0.520=0.128

(1.42072%3.14/4-0.600"2%3.14/4)%0.150=0.195

No.37-3 B[d

(0.82072%3.14/4-0.600"2%3.14/4)%0.520=0.128

(1.42072%3.14/4-0.600"2%3.14/4)%0.150=0.195

B &t

0.037+0.147+0.054+0.147+0.044+0.147+0.128+0.195+0.128+0.195

=1.222

®E E

0.032+0.194+0.029+0.194+0.278+0.392
=1.119
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&r 5
Eeqis|
&r 3
OB | Co
L=6.9km KO m 2
BIGHRE MER| &%=
L=3.2km WE&E{bt2%—  8#8*95kg=760kg [=] 1
nn& | Co
FAKOEERM  2.341%2.35=5.50 t 6
TH%T
*E BEHIAS20F 1.800%1.800%5 —(0.600"2%3.14/4)%5=14.787
t=5cm R & m 15
BEHIASs20F 1.800%1.800%2+2.000%2.000%1
t=5cm 7RIS -(0.600"2%3.14/4)%3=9.632 m 10
LTERET M-25 1.800%1.800%5—(0.820"2%3.14/4)*5=13.561
t=10cm &R m 14
M-25 1.800%1.800%2+2.000%2.000%1
t=10cm & -(0.820"2%3.14/4)%3=8.896 m 9
XE#RT AR
W=45cm R[E m 2.0
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[Ar&51k]
] &S ER
= 1
BHEE
@ 600mm TRRE | 2+2+1 [Elzi 5
BHEE
¢ 700mm RRE | 2+2+1 [Elzi 5
BHEE
¢ 700mm 7R | 1 [El3i 1
A &S ERH
RET = 1
BHEE
¢ 600mm 7RAE | LEIE:2.10m/HEFT < — )L#% . 3809cn/ Al [Elzis 5
HEE
¢ 700mm BRiE | LIEIE:2.47m/ERT < —)L#1:4738cm/ AR [Elzis 5
HEE
¢ 700mm "R | LIEIE:2.47m/HERT < — )L#t: 4738/ R [Elzis 1
TUR—ILERERER T
[ R ER ]
=% 1
BSEREL i
60m/H B | IRERKY :1.7+0.4+25.9+2.6=30.6 H B 30.6
i
60m/% /R | IRERKY :1.0+0.5+16.4+3.0=20.9H B 20.9
(W R— LB EE K E]
=% 1
kT Tn>5 BN
HE-HE 15T 1048 [Elzi 5
Tn5 bodih]
HRE-HE 15T 1048 [Elzi 3
BEE
@ 400 m 3.0
K& @ 150mm =R
EZERFHEK IRRREY :259H [Elzi 5
¢ 150mm 7R &
EZERFHEK IRRREY :16.4H [Elzi 3
WEKFTSH d400 7RSI g5 {& 1
WEKFTSH d450 7RSI g5 & 1
(REBEFEZ(HA]
= 1
RBEFEZHEEB
B TITERKY :1.7+0.4+25.9+2.6=30.6 A
FEFREAE 44 30.6x4%*1.25(XREEH)= A 153
®HE IERELY :1.0+0.5+16.4+3.0=20.90
FEREAE 44 20.9x4£&*1.25(RREEH)= A 105
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& Al % it B R ==X v) =
[ES i
AFLEERGE
REI| =RIFE BRI 2+2+1 Eliid 5
AFLEGD
REI| =RIFEE &R 2+2+1+41 Eliid 6
[GET]
= 1
SRR U BR
t=5cm R (1.00%4)%1=4.0 m 4.0
t=5cm & (1.00%4)%1=4.0 m 4.0
AR R R
t=5cm BFE (1.00%1.00)*1=1.00 m 1.0
t=5cm TR[H (1.00%1.00)%1=1.00 m 1.0
FROE AsiEHl BE4t
L=6.9km EKOEE®  2.00%0.05=0.1m3 m 0.1
no& AsiEHl BE4
EKOEREEHE  2.00%0.05%2.30=0.23t t 0.2
{EHIT B
(1.00%1.00%1.00)%1=1.0 m 1
%M
(1.00%1.00%1.00)%1=1.0 m 1
FH A 1 E % HE+
L=6.9km KOS m 2
0o
AKOEEE® m 2
BRI
RC-40 R (1.00%1.00%1.00)%1=1.0 RC1.2m3 m 1
RC-40 7&fS (1.00%1.00%1.00)%1=1.0 RC1.2m3 m 1
== B HAs20F
t=4cm B (1.00%1.00)%1=1.00 m 1.0
BZHIAs20F
t=4cm &H (1.00%1.00)%1=1.00 m 1.0
RBEFEZ(HEB
BHE BREAER : 3% B 1.0
A 3.0
%HE BREAER : 3% B 1.0
A 3.0
LERE]
1R 55 #4 S5 E iy BIR 1.02+1.17=2.19t t 29
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& Al iR i AR B4 =
[(REEIEA]
= 1
K[& - KAEL
HABHRE| BM IERLY -1.7+0.4+25.9+2.6=30.6 B
BEEAE 14 A 31
®HE IRERKY :1.0+0.5+16.4+3.0=20.9H
BEEAE 14 A 21
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